NAVE: U traviolet (E2 pl7) ~Base OCV: 6 ~Base DCV: 6
PLAYER: Adj ust ment + Agj ustment +
I nal OCV = I nal =
VALUE CHAR  COST BASE PTS
10 Strength x1 10 0
18 Dexterity X3 10 24
20 Constitution x2 10 20 Maneuver Phass OCV DCV Effect
10 Body X2 10 0 Block 12 +0  +0 stopsattack
18 Intelligence x1 10 8 Brace 0 +2 12 +2vsRMod
9 Ego X2 10 -2 PTS POVNERS END [pisarm 12 -2 +0 STRvsSTR
10 Presence x1 10 0 15 +5 Enhanced PER wi th Dodge 12 +0 +3 alattacks
16 Coneliness x1/2 10 3 all senses Grab 12 -1 -2 grab,doSTR
8 Physical Defexl 2 6 5 UV Vision Haymaker 12 +0 -5 x112SIR
10 Energy Def ensx1 4 6 ==Ski | | s== Move By 12 -2 -2 STR2+v/5
5 Spee x10 2.8 22 8 1 Levels,all conbat Move Through 12 -5 -3 STR+V/3
10 Recovery X2 6 8 ==Equi pment == Set 1+ 40
50 Endur ance x1/2 40 5 35 WP 5Li ght) (52),0F
25 Stun x1 25 0 -1/ 2 Rang <4 <8 <16 <32 <64 <128
Characteristics Cost: 100 3u 5D6 EB, NND( +1), Rwd -0 -2 -4 -6 -8 -10
Def ense: IR or W
%EIX? Eol I : %% E\L,J\A_n g . \7/ng (ég vl si bl 5(DEX: 18 SPD: 5 ECv: 3
ol | : - m " m , I nvisible
INT Roll: 13- [Junp 2" $+1/2?_,Si ght G oup g|Phases- - 3 -5 - -8 -1 -1
EGO Rol | : 11- 3u 26" Flight _ 5/|PO)rPD 8/ 0 EDrED 10/ O
PER Roll: 18- 20 '”V'AIS{Ng'y'S' by (L g;‘t)- END: 50 STUN. 25 BODY: 10
Experience: 0 O F(-1/2),0 END
Per si st ent (+1) 0
DI SADVANTAGES BASE: 116+PTS
Hunt ed, " Super hero group", 25 306 Loc  StunX NStun BodyX CV Armor
nore powerful, non-conbat 35  Head X5 x2 x2 -8
i nfl uence, har sh, appear 6  Hands X1 xU2  xU2 -6
11- 78 Arms x2 xU2 xl2 5
Hunt ed, " UNTI L", nore 25 9 Shoudes x3  xl x1 5
power f ul , non- conbat 10-11 Chest x3  xl xL -3
I nfl uence, har sh, appear 12 Stomach x4 x112  x1 -7
11- 13 Vitads x4 x112 x2 -8
Psych Lim"Fear of fire 10 14  Thighs x2  x1 x1 -4
usi ng peopl e", comon, 1516 Legs X2 xU2  xU2 -6
noder at e 17-18 Feet X1 xU2  xU2 -8
Vul n, "Heat attacks", 20
common, X2 stun NOTES
April 15th, 2015
Enemes 1l (6) pl7
Gender: Femal e
Di sadvant ages Total : 80 96 : Powers Tot al
Experi ence Spent + 0| 100 + Characteristic Total
Total Points = 196| 196 = Total Cost




